@ <X — D30 RTETIZ, ZfF2EFH. 10

@7l —hTTES =g DRIZAaT # AL TIEEN

@ 7L —if& TRRIZ2BEV AT U 2B TR R NI RE XA TO O THFEZ BRWLET, (5

@ & UE TR AL TEE W

STSEE FET~FaT7Id)NT IR BEHERE HAEEDYE

SHNCET A=A 77 TR0 DI LTI &N

FARICOAT 4T B 3DV ET)

Tha—2A
8:00|&= Tt TV — R HH A 77 2 SR AL RS L¥aT—
8:07| S5 H FEME RARME— - FH ECAS 1H HE = L XaT—
8:15|% H & —. - PN 77— 18 HsE LXaT—
8:22|F LT H 7z PPN ARZE) 1% L XaT—
8:30|~F I IE e SERES Je I FRBERGZE LXa7—(=T1A\)
8:37 | E FH e Jk 2P IR AR T T A =T
8:45|7Hj HVE A2 R ] FAmidiz =7
8:52| F-J5 /1 A | R — & NATIE =7
9:00| A H: w2 IS Y R = EZ=LEPN =7
9:07| Ik &= [ R JEIRTHE . FSTAA =T
9:15| H & —F NLEPNES A 1L P =T
9:22| BRI A R FER AR KAEH =7

Aa—A
8:00|$H AR £ RE LR g = TREET LT f—A
8:07| =H1H EOAHET N RIE T FBE L+ LT f—A
8:15| KR FAL H ST VE LT BT LT 4—R
8:22|(FHEEIE 5 2B A K172 38 A AT R LT f—A
8:30 | Bk [ LI{EHE AT BNl FE S C L¥aT—
8:37| KJ)IHE WES FH (RS R AR AL L¥aT—
8:45| A IE AEA R I 1H HEsE b5 A BT L¥aT—
8:52|ff B JE & IR 2 HILHR — = [P L Xa7—
9:00| =G5 L == FHIF AR Rl RN (L AR L X¥aT—
9:07 | Yt N —#8t s o R — L X¥aT—
9:15|FA = E 7] N I 1E A KNIE TR =T
9:22|db B EZ H b= /IR 22 H & - TR =T
9:30(1712275 N\ — A £ A5 gARZE TR =T
9:37| Al HE & )N + =¥ LRI TR =T

@il A GO EIIRGHF LI T ERKERETLHGENHVET




